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C=a+pY
A2l Y paladl ) (VX e dus
:U'_\U\:t,d\
Year Private Consumption X GDP
alAl) ey A lall el (Asall mlll  Jaal) Jaal)
1975 23.90 164.53
1976 34.75 205.06
1977 54.61 225.40
1978 68.61 249.54
1979 102.39 385.81
1980 114.91 520.59
1981 126..39 524.72
1982 151.29 415.23
1983 157.37 372.07
1984 159.35 351.40
1985 158.59 313.94
1986 140.15 271.09
1987 135.54 275.45
1988 139.40 285.15
1989 145.03 310.82
1990 155.87 391.99
1991 168.75 442.04
1992 183.92 461.40
1993 193.91 443.84
1994 185.83 450.03
1955 191.10 470.70
1996 206.21 511.33
1997 207.35 547.41




36

InC =-3.33+1.38InY

n=23 K=2
SSE =0.341
SSR =2.44
Y =4.82
SE(q)=1.29, SE(B)=0.219
= =230 g
“ 1.29
- _138-0_ .o
0.219
t(n—k)(l—0.0ZS) = 1:(21,0.975) = 2080
F=3988 F,, ,=F,=432

R*=0.65
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